Clamp & Hardware Placement Guide for P/N 7993-U

1” Clamp
8 x 25mm Button Head Bolt
8mm Flat Washer

793AFA
793AFB (right side)

1” Clamp

1” Clamp
8 x 30mm Button Head Bolt
8mm HD Flat Washer

8 x 25mm Button Head Bolt

8mm Flat Washer

8mm Nylock Nut

(this point needs to

be drilled, see instructions)
#700-100 Spacer
(pre-attached)

#832 Cupped Washers
6 x 12mm Self Tapping Bolt4
émm Lock Washer

8 X 25mm Button Head Bolt
8mm HD Flat Washer

#700-40 Nut Plate
(2x) 8mm HD Flat Washers
(2x) 8 x 25mm Hex Bolt

1” Clamp
8 x 30mm Button Head Bolt
8mm HD Flat Washer

#700-100 Spacer

#840 Cupped Washer (pre-attached)

6 x 16mm Flange Hex Bolt

793FBA for drilled points also use
793FBB|(right side) 793M1U a 6mm nylock nut and washer
1 1/4” Clamp 1 1/4” Clamp
8 x 25mm Button Head Bolt O O 8 x 25mm Button Head Bolt
"ofdica 8mm HD Flat Washer Drilled Points | J——+—y=s8mm HD Flat Washer
o\-l; overlap
#833-8 Cupped Washer I O G\/6 O O Overlap point
#700-99 Spacer #840 Cupped Washer same as other side
8 x 35mm Hex Bolt 6 x 16mm Flange Hex Bolt

#700-75L Bracket 1 1/4” Clamp
(#700-75R for other side)

8 x 25mm Button Head Bjolt

8mm Flat. Washer

| J
#700-06 Nut Plate
#700-17 Spacer

#833-8 Cupped Washer
#700-99 Spacer

8 x 35mm Hex Bolt
#700-06 Nut Plate

8 x 30mm Button Head Bolt

8 x 25mm Button Head Bolt 8mm HD Flat Washer

8mm Flat Washer

8mm Nylock Nut

(this point needs to

be drilled, see instructions)

8 x 55mm Button Head Bolt
(2x) 8mm Flat Washer
8mm Nylock Nut

#834 Clamp

8mm Flat Washer

793ARA
793ARB (right side)

Rock slider overlaps at
these two mounting points

8 x 30mm Button Head Bolt

#700-06 Nut Plate

#700-17 Spacer

8 x 25mm Button Head Bolt
8mm HD Flat Washer

/ o
Overlap point

O same as other side
1.3/4” Clam

p
Q\o\> 8 x 30mm Button Head Bolt

8mm HD Flat Washer

O
793M2U

#840 Cupped Washer
6 x 16mm Flange Hex Bolt
L)

907RU

7

#700-37 Nut Plate
#700-09 Spacer

8 x 40mm Hex Bolt
8mm HD Flat Washer

11/2” (A) Clamp
8 x 25mm Button Head Bolt
8mm HD Flat Washer




